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Question: 110.0 g © KNO; 6 €5¢5 163 TOIWEIED 5%3€30000 HNO; D80 DOes 2
(A0 Jra): H, 0. N 2DO0 K € )82 ([QDadfTPDEN B0 1, 16, 14
20O 39)

A 322¢

B: 694 g

C: 915 ¢

D: 162.5¢

Topic: Chemistry-Section A

Item No: 62

Question ID: 1269462

Question Type: | MCQ

Question:

4 QOIF'R © 5210800 do®EEW |50 Qe s .
A n=3 1=2 my=1 m =+12
B.n=4,1=1,my=0,m ,=+1/2
C.n=4,1=2, my=-2,m,=-1/2
D.n=3,1=1my=-1,m,~=+1/2

38 ED DOTDE 1Z530:30 E?




A: D<B<A<C
B: D<A<B<C
C: B<D<A<C
D: B<D<C<A

Topic: Chemistry-Section A
Item No: 63

Question ID: 1269463

Question Type: | MCQ

C(s) + O5(g) — CO,(g) + 400 kJ
C(s) + %Oz(g) — CO(g) + 100 kI
60% OHREH (10 TS D §Bevier 38233 (insufficient oxygen) (o)

QeSO OBODBH I 60% B CO° T SO DAOS FBIS €Oy
A 3780 DO, 0.6 kg © FEIQ oD 2SD0B0WIY) IR
DGO GO DO

A 1600 kJ

B: 3200 kI

C: 4400 kJ

D: 6600 kI

Topic: Chemistry-Section A

Iltem No: 64

Question ID: 1269464

Question Type: | MCQ

200 mL € 0.01 M HC1 ¢ 400 mL € 0.01M H,50, 65 ¥, Qo|8e0a) pH
ATV I

Question:
Q09 5206303 log 2=0.30. log 3=0.48 . log 5=10.70. log 7=0.84 .
log 11=1.04

A 1.14

B: 1.78

C: 2.34

D: 3.02

Topic: Chemistry-Section A

Item No: 65

Question ID: 1269465

Question Type: | MCQ




TR A0 DoAY &l i1¢den 80 @ed fF0W:

050 P08 &8 e (K)
He 32
. CH, 190.0
Question: co, 3040
NH; 405.5
QR HOITEIO e 1375 §'S 2 e9éhzer) DT 00 TOLD T AN
DE?
A: He
B: CH4
D: NH3
Topic: Chemistry-Section A
Item No: 66
Question ID: 1269466
Question Type: | MCQ
Question: €38 (Sn) TB0EY, HORE HYESEL S 1D BaHes
A: €3o006 LIS 5T 0.
B Qe3¢5 EBr.
C: KOS DBE BXNESID AR TP |DIETF0 TAVCRD.
D NaOH & &30 (fusion).
Topic: Chemistry-Section A
Item No: 67
Question ID: 1269467
Question Type: | MCQ

&2 18005 BOD DadBEaen @ed 520500,
DedGED Lot | B 5O Grrar O o ) 6.

QueSion: | oy S 5e0 I1: T S eSO 2.8 DBe> 9208,

2 DeIBEE) esTFBOTT, 9655065 CSHD A 238723065 )OTHT .
A: o082 T 2OCIN 3B IT DO,
B: B0 o820 I 2080 II A8 T




DS T HOTIO 5 DeSGe T DB T

D: DSBEI T HOTNSA T T DSIBEI I HOTDXA.
Topic: Chemistry-Section A

Item No: 68

Question ID: 1269468

Question Type: | MCQ

0 08 D0 HE3HNE(setting) TR SFESAOTHEZ RO

Question:
X GOLNOA. ‘X’ JaDe3?
A: CaSO, - 3 H,0
B: CaS0O, - 2H,0
C: CaSOy
D: CaCOj;
Topic: Chemistry-Section A
Item No: 69
Question ID: 1269469
Question Type: | MCQ

S0 < 2.8 T390 1120 Ca0 & BE T )0 OGN S

QUESHON: | 8N B, eat DBy STP BSOS
A: B,0;

B: Co(BO,),

C: CoB 404

D: Co[B405(0OH)4]

Topic: Chemistry-Section A

Item No: 70

Question ID: 1269470

Question Type: | MCQ

1B0® 3d-65aF 005 O BAR 36T ¥6A0DE eadhzedy

Question: ITFBEAS OO (ApyaH) Q B )0?
A C2T

B: M2t

C: Felt

D: CoZ"

Topic: Chemistry-Section A




Item No: 71
Question ID: 1269471
Question Type: | MCQ

@He¥ 52HO(I E@D?@“ﬂl} T2 s)ETPeEDeIN (structural distortion)
(Tahn-Teller) DO (0 5205 (1) oIS’ $8x AT

Question: | o K mEIO DEBIOTHSG VB2 (cn— BBDS B ©MS:
H,N-CH,-CH,-NH, )

A: [Cu(H,0)4]804

B: [Cu(en)(H,0)4]S0,

C: cis-[Cu(en),Cl,]

D: trans-[ Cu(en),Cl,]

Topic: Chemistry-Section A

Item No: 72

Question ID: 1269472

Question Type: | MCQ

TR 2.8 238 Oa0IF0A0 TR DBD aroseeS 58506 es8)5

Question: D GV, FNELE BN arCRTIA HOCIW 88 23098
DO (B TeNIHOT B TBE) 8B O?

A: NO

B: NO;

C: NO,

D: NO,

Topic: Chemistry-Section A

Item No: 73

Question ID: 1269473

Question Type: | MCQ

Question: 1-0BS PETFTIS oD Trd Tk, HOT DTTEIS0 A ?

0
|
H




B: \ O/CHE —(C—H
O
||
C: H
I
CH,—C—H
D:
Topic: Chemistry-Section A
Item No: 74
Question ID: 1269474
Question Type: | MCQ

ORIV 4’ 1BOB 550 £963|Ea30a30 TOA DT ‘B N
20 ). QeZFIIN ‘B’ T0E) OOGDN QT30 SO0 STrd)el
O?

[28;88 Et = C,H;]

Question: 5 _
>_< (i) Mg, EtrO
(i1) DLO
Br W
Compound 'A’
A >_<
D «ESO
oD
c: >_< 365
B =
D: >_/\OD DESS




Topic:

Chemistry-Section A

Item No: 75
Question ID: 1269475
Question Type: | MCQ
&2 18005 TOD DadBEaen) ®ed §20TT0W.
CH,
| o,
DB I: DIFedadD) H (1806589 (2330826563 0358 30T,
=g
A)
Question: CH; (
CHj
O,N | —_—
DG II: 2 2 a2 'A' TBNEY. 58
H AN
. - CH;
(223202030
) DB eSTFBOMP, 9¢550¢5 51D S 237200 )OTHT e,
A 0)edBED I DO DadBED IT DO,
B: DO o382 T o000 I DB Soo)).
C: DB T HOTDRE TR DS T HOTDSE 5.
D: DIB T HOTDRE ¢ T 3G T HOTIE.
Topic: Chemistry-Section A
Item No: 76
Question ID: 1269476
Question Type: | MCQ

QHSS o e H,S0, & B TOY )R 2.8 araine) o8 )R00. &

Question: POVWIIN INVERLSTY DS Bond TEED) 2O (TN G ODONT
28680 DT O ?

A; o Oers

B: ol e300

C: ES"@

D: QHSONE 0

Topic: Chemistry-Section A

ltem No:

7




Question ID: 1269477
Question Type: | MCQ
Question: are) 20 528550 6?2
0]
Il
A: |b| -l
0]
N," Cl
0
C: @::;N K’
(4]
’ /©/
HO
Topic: Chemistry-Section A
Item No: 78
Question ID: 1269478
Question Type: | MCQ
Question: 1808 73S DO D23 arO0d 0?2
A: 1e3S
B 0.
C: S
D DO
Topic: Chemistry-Section A
Item No: 79
Question ID: 1269479
Question Type: | MCQ




180 BO DIBEIEN Red 5RNN. 2,563 DB)ed0 A OO TOed
PR SPBE9a30 R T QAP0 |
DB SSW A: oS 2S 36T E&viic.

QUEston: | se5easn R: &2 @0cdiB, 200 K0T D& HFE2S GHRDED fes
PGS FHODVE) EN Y.
2 DedBEe) esrBOMF, e0eb:06ed DA 2300722005 OTHT M.
A: A 0OC R 0 00D RQOS5° R @9cdad0 A G30E) 8N adadea.
5 A DO R 20 OGN 5% R 2260000 A C30E}) 00T edBed
' LAV
A QBDAE 550 R OB 5°¢N.
A QSO 5N 57 R 8GR,
Topic: Chemistry-Section A
Iltem No: 80
Question ID: 1269480
Question Type: | MCQ

D02 H 580X’ 2,8 O e300 SOOI NaOH 0605 CH;COOH ©
ém?géémﬁméﬁ 801565 230 (10 pH o3 S0 LSt ek,

Question:
SEASFHEOET OBRTFE0 X 00DREB0 TOOS S0 &0E0H.
O FN0 X O 2

A: DBS esBoS

B: DS B&

C: DS WOS

D: QO &0 arS T

Topic: Chemistry-Section B

Item No: 81

Question ID: 1269481

Question Type:

Numeric Answer

X’ g © e08a) 832383 (0,) A0 200 g TS (Ne) & EODard. De0d '
0, 0BT Ne © L3S 2T D0LFa0SY 28I 25 bar. T3 SsaF|1i¢s
OO0 DSNOSTETE 0569 Ne TB0EZ a8 £ 8930 20 bar €900, x°

Question:
HISVINIE
[BQ): 0, Brerd |Ked50°F =32 gmol L,
Ne 3¢ (9635073 =20 g mol ™! ]

Topic: Chemistry-Section B

Item No:

82




Question ID:

1269482

Question Type:

Numeric Answer

PF<. BiF<. PCls. SF. [IC1,]". CIF;, IF-. ©c0 HOFDothaim.

Question: ) e9es)en/eoaird &6 spid? HoEBEGD0 KO ESHeN/ATS ©
Q0§

Topic: Chemistry-Section B

Item No: 83

Question ID: 1269483

Question Type:

Numeric Answer

62.5 cm® © QASS ¢ 1.80 g © (TFHN A Q EOROTIT DBIBS
ITTE98Y) SDRZIID W0 155.1 K. |TTR950 A T0E), Irerd (9077

__gmol L,

Question: | D) 35D): BESS IS T30 = 156.0 K.
PASO PO|C96¢% = 0.80 g em ™.
QASS TEY VNS TS Db VTP0E50 =2.00 K ke mol ™
Topic: Chemistry-Section B
Item No: 84
Question ID: 1269484

Question Type:

Numeric Answer

2,8 aDE0. Cu(s) | Cu?™(0.001M) || Ag™ (0.01M) | Ag (s)
TINE), 06 $K20 208 K 6569 0.43 V. Cud™/Cy C087 19987 Qe §8 4520

Question: = 1072 V.
at8e ES . =080V Socm SR _ 006
. Ag’ /Ag F

Topic: Chemistry-Section B

Iltem No: 85

Question ID: 1269485

Question Type:

Numeric Answer

2,8 0T TEY 30 D05 T T O KO 1pg dBSTE0 e
OATPEO8 S0FreEain X A 37280 TROTRTHLE. 100 OO yore)

Question:
5057 TEPS' D) X HBSPEW <107 g,
[@T)e): In 10 =2.303: log 2 =0.30 ]

Topic: Chemistry-Section B

Iltem No:

86




Question ID:

1269486

Question Type:

Numeric Answer

Na[Co(bpy)Cl,] &5 §2rQ es§ )5S V& HO oS io Jusdo .

Question: / \ /
(QTIOE: bpy = )

Topic: Chemistry-Section B

Item No: 87

Question ID: 1269487

Question Type:

Numeric Answer

D38 B0 DOZOHONN e )-e37°en |§0L) Qe SFOW.

Question: H,S0; . H,S0, . H,$,05 200050 H,8,0,. & 38 esadrereS 2o 3(0-0)
20650 &) S Do :

Topic: Chemistry-Section B

Item No: 88

Question ID: 1269488

Question Type:

Numeric Answer

STP o3& 92.0 g/mol @greTS0 (e 1.84 mg © 2.8 O TFAS ese).5'o

Question: D020 X7, 1.344 mL © H, SPADHRADI0N. DagFadadn. X &
A0 @08 I EBS © dowE .

Topic: Chemistry-Section B

Item No: 89

Question ID: 1269489

Question Type:

Numeric Answer

HCN & (+)Ph(C=0)C(OH)(CN)Ph 138265 & 1¢0 183030 arddg s

Question: 0D )
[2T5)¢) Ph = CgHs-]

Topic: Chemistry-Section B

Item No: 90

Question ID: 1269490

Question Type:

Numeric Answer

Question:

DBONSS O ) TOHS DESPEDY© doBS




